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4 fn 3 4R 33,494 8.9] 11,946 13.6 93,928 5.7 67,275 19.0) 2.80 | 1.40 3,009 7.6 3,963 9.1
N4 44,724 33.5| 11,693 | A 2.1| 125,778 33.9 66,501 | A 1.2| 3.82| 1.89 3,194 6.1 4,294 8.4
4 fi 5 AR JE 50,761 13.5| 11,285 | A 3.5| 146,118 16.2 65,797 | A 1.1| 4.50| 2.22 3,270 2.4 4,509 5.0
SF54 104 57,075 21.2| 11,954 4.5| 153,336 22.2 66,042 | A 0.4 4.77 | 2.32 3,346 5.3 4,679 9.5
11H 50,142 2.3 10,143 | A 0.3] 149,998 13.0 65,384 1.3] 4.94| 2.29 3,256 2.0 4,530 3.8
12H 49,159 15.7 8,393 | A 0.3] 149,194 11.7 62,456 2.9] 5.86| 2.39 3,264 7.4 4,477 9.5
SF64E 1A 53,811 8.4| 11,808 3.4 145,370 7.5 62,748 5.3| 4.56 | 2.32 2,812 8.3 3,866 11.3
2A 49,713 | A 3.2] 11,002 | A 1.0] 148,163 6.0 63,874 5.5| 4.52 | 2.32 3,043 0.9 4,259 5.1
3A 49,850 | A 2.7 10,840 | A 7.5| 147,523 0.2 65,592 3.9 4.60 | 2.25 3,676 1.9 4,975 | A 0.4
41 47,609 | A 1.1 16,719 6.3] 140,455 | A 2.3 71,075 4.8] 2.85| 1.98 3,853 4.1 5,210 5.9
51 50,502 8.0 13,942 4.2] 141,258 2.3 74,231 6.3] 3.62| 1.90 3,732 4.9 5,156 6.8
6H 53,919 6.0/ 11,029 | A 1.7| 146,328 4.6 74,297 6.2] 4.89| 1.97 3,575 A 038 4,798 | A 3.3
7H 50,426 2.5 11,382 11.7| 149,458 6.0 71,891 7.5 4.43 ] 2.08 3,348 9.8 4,603 7.0
8H 43,032 | A 204 9,963 | A 1.4 141,463 | A 4.5 69,458 7.4 4.32 ] 2.04 3,025 3.8 4,164 3.8
9H 52,468 4.2] 10,980 3.0/ 140,717 | A 55 69,310 7.8 4.78 | 2.03 3,135 3.9 4,358 1.5
101 57,571 0.9] 12,290 2.8| 148,206 | A 3.3 70,403 6.6] 4.68| 2.11 3,404 1.7 4,788 2.3
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